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0. Sand masting (H). The sailboat named Sand Bug has a tall mast. The back
stay (the beavy steel cable that attaches the top of the mast 1o the back. or
stermn, of the sailboat) is made of 130 feet of cable. The base of the mast s
located SO feet from the stern of the boat. How tall 1s the mast”?
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18, Truin frouble (1),

Teain tracks are made of metal, Consequently, they

expand when it warm and shrink when ity cold. When riding m A u;-:-'n_.
hear the clickety-clack of the wheels going over small gaps It"ll lm n'
yracks 10 sllow for this expansion, Suppose you were A beginner at m,m:
ritrosd fescks and forgot 1o put in (he gaps. Instead, you made 8 rac
1 mle long that was firmly fixed at each end, On a hot day, suppusc lhf:
track expanded by 2 feet and therefore buckled up 1n the mddle, creating a

triangle.

Roughly how high would the midpoint be? Now you may appreciate the
chick -clack of the rmilroad track
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28 Ahoy :
twe ..-.':Fﬁ ) Yous exotic sailboat, which you named the Pythagorus, has
of length | wi;nr s the shape of 8 right triangle. The smalicr sail has legs
has oae meters and bypotenuse of length x meters. The larger sail
kg whose leagh cquals the lengih the hypolenuse of the shorter

ssil. The larper sail has a bypotenuse of length v26 meters. Find the lengths
of all the wdes of both triangular sails.
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18 Compariug aress (ExtD. Let G be a Goklen Rectangle having base b and
hotght A am! tet ' be the smalier Golden Rectangle made by removing the
latpest square possible from G Compute the ratio of the arca of G o the wea
of U That i compute Area{ Uy Area(Ci'). Does your answer really depend
on b and A (the arginal stee of G)? Are vou surprised by your answer?
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M. Adding » square. Your schools Healthy Faung garden plot s a rectan gho
measuring 2 meters by x meters. You decide 10 expand the area for more

orgamic vegetables by adding a large squarc plot agmnst the side measuring

¢ meters. Wilte an expression in lerms of x that gives the total arca of the

expanded garden. 1f the wtal arca is 24 square meters, find ©.
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subirac!
- wolich, take the sumber of verixes :
n c:un-:admu: o For cach regular soid what
dv you gt
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( Vetias - Edges + Faces) alwaps el & L 3, ™ veular sald.

16. Cube stices (H). Consider slicing the cube with a plane. What are all the
different-shaped slces we can get? One slice, for example, could be rectan-
gular. What other shaped slices can we get? Sketch both the shape of the
slice and show how it is a slice of the cube.
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